
ESE370 Lec 10 Preclass/Inclass Worksheet Fall 2021

1. What is the variation impact on Id:

• W ?

• L ?

• tOX ?

• Vth ?

2. Assuming Vth,nom=250mV and σVth
=25mV, there is roughly a 96% probability that a

given transistor has a Vth between 200mV and 300mV. What is the probability that
all transistors in a 100 transistor circuit have a Vth between 200mV and 300mV?

3. Recompute the probability that all 100 transistors are in range when each transistor
has a 99.8% probability of being in range.

4. If we need high and low brackets for N parameters, how many cases must we consider?
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Velocity Saturated:
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Subthreshold:

ID = IS
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